
N = 313

313 circles in a 1x0.20000 rectangle

radius =   0.013107836876
ratio  =  15.258047677377

density  = 0.844746246382
contacts = 821
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N = 314

314 circles in a 1x0.20000 rectangle

radius =   0.013077028645
ratio  =  15.293994180544

density  = 0.843466183150
contacts = 842
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N = 315

315 circles in a 1x0.20000 rectangle

radius =   0.013067342446
ratio  =  15.305330890334

density  = 0.844899349621
contacts = 813
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N = 316

316 circles in a 1x0.20000 rectangle

radius =   0.013056280710
ratio  =  15.318298100581

density  = 0.846147191572
contacts = 864
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N = 317

317 circles in a 1x0.20000 rectangle

radius =   0.013037610856
ratio  =  15.340233897779

density  = 0.846399050659
contacts = 757
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N = 318

318 circles in a 1x0.20000 rectangle

radius =   0.013016578897
ratio  =  15.365020378053

density  = 0.846331893255
contacts = 842
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N = 319

319 circles in a 1x0.20000 rectangle

radius =   0.013000246502
ratio  =  15.384323671434

density  = 0.846864122820
contacts = 850
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N = 320

320 circles in a 1x0.20000 rectangle

radius =   0.012996316600
ratio  =  15.388975672965

density  = 0.849005337283
contacts = 876
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N = 321

321 circles in a 1x0.20000 rectangle

radius =   0.012967574969
ratio  =  15.423084152235

density  = 0.847895722525
contacts = 847
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N = 322

322 circles in a 1x0.20000 rectangle

radius =   0.012946031142
ratio  =  15.448750107609

density  = 0.847713390844
contacts = 863
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N = 323

323 circles in a 1x0.20000 rectangle

radius =   0.012934028412
ratio  =  15.463086490427

density  = 0.848769999360
contacts = 870
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N = 324

324 circles in a 1x0.20000 rectangle

radius =   0.012930375635
ratio  =  15.467454747095

density  = 0.850916941460
contacts = 890
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